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1 Difficulty 
Easy 
Medium 
Hard 

Answer 

Find the last digit of  32024   

A) 1  B) 2  C) 3  D) 4 

M A 

Translated version: 

32024  

A) 1  B) 2  C) 3  D) 4 

  

2   

  Suppose that
3

=
5

=
7

and  + + = 90, find 2 +  . 

A) 18  B) 20  C) 22  D) 24 

E D 

Translated version: 

3
=

5
=

7
  + + = 90,  2 +   

A) 18  B) 20  C) 22  D) 24 

  

3   

Evaluate the expression:  4

3

3

4
 

A) 3
2
     B) 1    C) 1   D) 1

12
   

 

M D 

Translated version: 

4

3

3

4
 

A) 3
2
     B) 1    C) 1   D) 1

12
   

 

  

4   

 

Given rectangle ABCD.   

,   

Lines AF and BG intersect at point E.  

Find the area of  

A)      B)     C)    D)      

 

M D 

Translated version: 

 

  



 

 ABCD   

,   

 AF  BG  E 

  

A)      B)     C)    D)     

5   

What is the value of k in the following expression? 

 

A) 2     B) 3     C) 4     D) 5  

E B 

Translated version: 

 

 k  

A) 2     B) 3     C) 4     D) 5 

  

6   

Evaluate the expression: 

 

 

A)      B)     C)    D)   

H A 

Translated version: 

 

A)      B)     C)    D)  

  

7   

Evaluate the expression: 0.4 + 0.04 + 0.004 +   

A)      B)     C)    D)      

 

H B 

Translated version: 

0.4 + 0.04 + 0.004 +  

  



A)      B)     C)    D)     

8   

If , ,     

Which of the following is correct? 
A)      B)    C)    D)    

 

M B 

Translated version: 

 

      , ,    

 

 

A)      B)    C)    D)    

 

  

9   

 

Altogether, how many *s are there in the first eight rows? 

A) 61     B) 62    C) 63   D) 64   

 

M D 

Translated version:

 

*  

A) 61     B) 62    C) 63   D) 64   

 

  

10   

What is the measure of the smaller angle, in degrees, formed by the hands of a clock at 
10:10? 

H B 



 

 
a)110o 
b)115o 
c)120o 
d)125o 

 

Translated version: 

10:10

 

 
a)110o 
b)115o 
c)120o 
d)125o 

 

  

11   

In the following sum, each distinct letter represents a different digit from 0 to 9. 
What is the sum of the digits in BASIC ? 
 *** Note: The letter O in ROSS may be different from the digit 0. 

 
 

a) 11 
b) 12 
c) 13 
d) 14 

 

E B 

Translated version: 

0 9  

 BASIC  

*** O ROSS 0 

 
 

a) 11 
b) 12 
c) 13 

  



d) 14 
 

12   

 
 

If the number on the pyramids on the left and on the right have the same pattern, what is 
the sum of    ? 

 
a) 10 
b) 11 
c) 12 
d) 13 

 

M B 

Translated version: 

 

 
 

 

 
 

a) 10 
b) 11 
c) 12 
d) 13 

 

 

13   

The sum of the lengths of three sides of a rectangle is 40 cm. Each side 
length is a positive integer, and the length of the rectangle is 4 cm 
longer than its width. What is the perimeter of the rectangle? 
 

a) 56 
b) 46 
c) 66 
d) 48 

 

M A 

Translated version:  
 

40

 

4  
a) 56 

  



b) 46 
c) 66 
d) 48 

 

14   

 
Find the value of x. 

A) 22 cm 
B) 26 cm 
C) 24 cm 
D) 28 cm 

E C 

Translated version: 

 

 
 x 

A) 22 cm 
B) 26 cm 
C) 24 cm 
D) 28 cm 

  

15   

 
If the radius of the circle is 4 cm, what is the area of the shaded part of the regular 

hexagon and excess sectors? { Take pi as 3; = 3 } 
 

a) 18 
b) 21 
c) 24 
d) 27 

 

H C 

Translated version: 
 

  



 
4

{ pi 3; = 3  } 
 

a) 18 
b) 21 
c) 24 
d) 27 

 

16   

What is the sum of all the roots of (3x+3)(x-7)+(3x+3)(x-3) = 0    

(A) 2/13   

(B) 4  

(C) -4  

(D) 9  

 

E B 

Translated version: 

(3x+3)(x-7)+(3x+3)(x-3) = 0  

(A) 2/13   

(B) 4  

(C) -4  

(D) 9  

 

  

17   

Which number must be inserted instead of a,b, and c, to make left side equal to the right 
side? 

 

A)  a=3 , b= 1, c=5 
B) a=3 , b= 3, c=3 
C) a=7 , b= 1, c=5  
D) a=4 , b= 1, c=2 
 

E A 

Translated version: 

a,b c 

 
A)  a=3 , b= 1, c=5 
B) a=3 , b= 3, c=3 
C) a=7 , b= 1, c=5  
D) a=4 , b= 1, c=2 
 

  

18   

Find the perimeter of a shape made of 4 small squares and 1 large square, with a total 
area of 72 m². (Side lengths of the squares are positive integers.) 

M A 



 

 
A) 72 m 
B) 36 m 
C) 64 m 
D) 48 m 
 

Translated version: 

 4 

 1 72  2  

 

 

 
A) 72 m 
B) 36 m 
C) 64 m 
D) 48 m 
 

  

19   

Let a, b and c be positive real numbers. Suppose that  
 
 
 
 
 
 
 

Find the value of k. 
 

A) 4a     B) 1    C) 4    D) c 

H B 

Translated version: 

a, b c 

 
 
 
 
 
 

 k 

A) 4a     B) 1    C) 4    D) c 

  

20   



Evaluate  
A) 4       B) 1+ 14     C) 5     D) 1- 15 

E A 

Translated version: 

 

 

A) 4       B) 1+ 14     C) 5     D) 1- 15 

  

21   

 
The picture shows figures made up of n = 1, 2, and 3 dots along each side. 
What is the number of dots needed for the 8th figure? 

a) 85 
b) 101 
c) 112 
d) 113 

M D 

Translated version: 
 

 
 n = 1, 2 3 

8 
 

a) 85 
b) 101 
c) 112 
d) 113 

  

22   

Evaluate  
A) 54  B)  57  C) 64  D) 44 

E B 

Translated version: 

 
 

 
A) 54  B)  57  C) 64  D) 44 

  

23   

 
A) 8   B) 16   C) 14   D) 20 

E C 



Translated version: 

  x + y = 22 2x - y = -1 2x 
 

A) 8   B) 16   C) 14   D) 20 

  

24   

 
In the diagram, the word MATHEMATICS is written inside a circle. When the figure is 
rotated 180  in the clockwise direction, what will the resulting figure be? 

 
 
 

E B 

Translated version: 

MATHEMATICS

180  

 
 
 

  

25   

 
A) 30   B) 0.06  C) 20   D) 4 

M A 

Translated version: 

 

 
 

A) 30   B) 0.06  C) 20   D) 4 

  

26   



A group of 10 students has an average weight of 63 kg. Recently, two 
students of the same weight left the class, after which the average weight 
of the remaining students in this group increased to 64 kg. What was the 
weight of each of the two students who left the class? 
 

A) 50   B) 59   C) 61   D) 65 

E B 

Translated version:  

10 63

64
 

A) 50   B) 59   C) 61   D) 65 

  

27   

A palindromic number is a number that remains the same when its digits are reversed. 
For example: 1235321, 212, 5445, 23732, 3332333. How many 3 digit palindromic 
numbers can be generated, with a condition that all the digits of the number can not be 
the same? (Example: 333 is not allowed, 313 is allowed) 

A) 90    B) 99   C) 81   D) 88 

M C 

Translated version: 

1235321, 212, 5445, 23732, 3332333 3

( 333 313 ) 
 

A) 90    B) 99   C) 81   D) 88 

 

  

28   

Find the largest number among these numbers: 150%,   ,    2 0.125,   1.50 
A)  
B) 2 0.125 
C) 1.50 
D) 150% 

E B 

Translated version: 

:  150%,   ,    2 0.125,   1.50 

A)  
B) 2 0.125 
C) 1.50 
D) 150% 

  

29   

In the figure below, quadrilateral ABCD has DC perpendicular to BC. 
Given that AB = 25,  BC = 18, DC = 24, and AD = 25, find the area of 
quadrilateral ABCD. 

 

M C 



A) 600            B) 450            C) 516            D) 500 

Translated version: 

ABCD DC BC 

AB = 25, BC = 18, DC = 24 AD = 25
ABCD

 
A) 600            B) 450            C) 516            D) 500 

  

30   

 
In the figure, AB=AC=23 cm 
BC = CE = EF = 8 cm  and  = 20  
 
Find |AF| 
 

A) 7 cm 
B) 1 cm 

M C 



 
 
 

C) 15 cm 
D) 2 cm 

 
 

 
Translated version: 

 

 
 AB=AC=23  BC = CE = EF = 8   = 20  

|AF| 
 

E) 7 cm 
F) 1 cm 
G) 15 cm 
H) 2 cm 

 
 

  


